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66. Given f(x) = 2|x — 1| + 5. find f(0) — F(3).
67. Given f(x) = x? + 2x — 3, find f(x +4) — F(4).

68. Find f(x + ) for f(x) = 2 + 2x — 3.




image8.png
. Letf(x )—{3"” el
a) Find f(1)
v) Find £(5)

. Given f(x) = 3x — 6 and g(x) = x2 — 4. find the product of £ (x)g(x).

. Given f(x) = 3x — 6 and g(x) = x — 4, find L&

g(x)

. Given f(x) = 3x — 6 and g(x) = x2 — 4. find (g © f)(x).

. Given f(x) = 3x — 6, find £ (x).
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XI. Use the drawing to the right to find the each limit/value.

74 lm f() 75 lim, f(2) 76. lim £ 77. f(-1)
78. lim £() 79. lim, () 80. liny £(x) 81. £(0)

82 lim £(x) 83. lim £(x) 84. lim f(x) 85. F(1)
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XII. Sketch the graph, identify the x- & y-intercepts, and identify the domain and range.
86.y = x% —2x? —3x 87.y=x2+3x—10 88.y=e*+3 89.y=In(x—1)

90.y=Vx+2-1 91. ;

02.y=|x—2|+3 93y =1

x+1  x<0
94.f() =2 -1 0=x=2
—x+3  x>2
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Trigonometric Identities

. Write the 3 Pythagorean Identities 2. Write the 3 double angle identities for cosine: cos 2x =
. Write the double-angle identity for sine: sin 2x = 2
Simplify.
2x%-x-3 x2-5x+4 x—4 x243x sin2x
6. 7. L =
x+1 x2-2x-8 [x+5-3 9-x2 sinx
: " in? x+sinx—6
sin?x + cot?x sin x 10. cscx — cos?x cscx 11, TR

sinx+3
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Ill. Simplify each expression

1.1 X1 a
12,2+ e reney
X xeax Bx  xitaxtz

1
16, E_xe2
4x





image3.png
IV. Solve for m.
17. 2x +8ym =0 18. m=(y+xm)(1+y) 19. mcosx + msinx = cos 2x

V. Expand and simplify
5

&2 S oam
Yo 22y s
4 &

VL. Simplify each expression.

23. In1 24. In0 25. Ine? 26. el"s 27. eln4tin7
28. Inde® 29.logs 25 30.logs (2) 31.1ogs(3/5) 32.16%/4
33, 8007 34. (4x~Syz2)0 35. (8x73y3z6)1/3

275y
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VIL. Using the point-slope form: y—y, =m(x—x,), write an equation for the line:

36. with slope —2. containing the point (4.3) 37. containing the points (1, —2) and (~6.7)

38. parallel to 3x — 2y =7 and passing through (4.1) 39. perpendicular to the line 3x— 2y =7 and
passing through (4.1)

VIII. Without using a calculator, determine the exact value of each expression.
YOU WILL BE EXPECTED TO HAVE MEMORIZED THE UNIT CIRCLE!
Need extra practice? Visit: www.kwarp.com/portfolio/trigspinner.html

40.sin7 41 cos™ 42.5in>" 43. cos % 44. cos”
i o 3 B

3 st i 3w
45, tan 46.tan 47.tan2m 48.sin”* (tan )
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IX. Solve for x, where x is a real number. Show the work that leads to your solution.

ax?-9 _

49.x2 0

=2x+8 50.

53 (x+3)2(x—D+(x+3)x-1D2=0

NE

) ™
§5. cos2x =sinx,—J=x <

57. e =5 58,3 = -2

51.(x+3)2=16

52.3x2+10x =8

: =
54, cosx—sinx=0,0=x=2

) ™
56.sec? x —tan?x = sinx, —3sxs<

59.In3x = -2

wla

60.1log,(x +3) +logy x =2
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X. Miscellaneous: Follow the directions for each problem.

61. Find the x-intercept(s): 4x2 — 3y2 + 2xy — 12 = 0

62. Using a graphing calculator. find all point(s) of intersection of the graphs of y = x3 — 2x2 + x — 1 and
y = —x? + 3x — 2. Round your answer to the nearest thousandths.

63. Tfthe point (4, —3) lies on the graph of the equation 2x + cy = 11, find the value of ¢

64. Find the equation of the vertical line that passes through the point (2.7).

65. Using a graphing calculator. find the amount of revenue carned when a company breaks even (R = C) if the
cost in dollars of producing x units is C(x) = 5.5V + 10,000 and the revenue in dollars for selling x units
is R(x) = 3.29¢




